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- 8.G.8, 8EE.2
Mountain Biking Evan was biking on a trail. \ | [B93) T‘;";e;“‘""' Practices
A map of the trail is shown. His brother tim - - 4
e . . = —
his ride from point A to point B. 3(5" PV ’,:r_ — e ?
1. What do the blue and red lines the‘_\\ iﬁ%& = 2
graph represent? b % = ’—
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2. What type of triangle is formed by the lines?
Ranwe A

3. How can you find the length of AC and BC without
counting the number of units?

Sample answer: subtract the x-coordinates

and subtract the y-coordinates

4. What are the lengths of the two blue lines?
AC= 4 units BC= 5.5 units

5. Write an equation using the Pythagorean Theorem
that you can use to find the length of AB.

42 +55%2=¢2
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Got I¥+? Do this problem to find out.
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. On a park map, the ra ?Jﬁssr station is located at (2.5, 3.5).and the
center is located at (0.5,4) Each unit in the map is gqual to 0.5 mlle _ (._, g
What is the approximate distance between the rangerste and the

g Ao
nature center? (Eamples2and3) 1:0 mi C// +
——— v oD -
_ - A .3
) @_} &.Iildil’lg on the Essential Question How can Rate VOurselfl < ‘7‘____,_
you use the Pythagorean Theorem to find the distance 75 2
between two points on the coordinate plane? fre you veady to wove onf A L E i
Sample answer: After you plot the points, draw a right Shade the section that applies. q _ot’
triangle. Use the Pythagorean Theorem to find the o ’F’)/ " 6
length of the hypotenuse which is the distance @3 4_;

between the two points. g
P __®30re help, go online to [ Tutor]
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1.

Graph the ordered pairs (1, 5) and (3, 1). Then
find the distance between the points. Round
to the nearest tenth if necessary. (fumple 1)

4.5 units

On a park map, the ranger station is located at (2.5, 3.5) and the nature
center is located at (0.5, 4). Each unit in the map is equal to 0.5 mile.
What is the approximate distance between the ranger station and the

nature center? (Bamples 2and2) 1-0 Mi

. @_‘, Building on the Essential Question How can

ybu use the Pythagorean Theorem to find the distance
between two points on the coordinate plane?

Sample answer: After you plot the points, draw a right

triangle. Use the Pythagorean Theorem to find the

length of the hypotenuse which is the distance

between the two points.
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Graph each pair of ordered pairs. Then find the distance between the
points. Round to the nearest tenth if necessary. conpe

1. (4,5),(2,2) 36 units 2. (—3,4),(1,3) 4.1 units ¥ @5, -1, (=35, -5)
7.2 units
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4. Aferry sets sail from anisland located at (4, 12) on a map. Its
destination is Ferry Landing B at (6, 2). How far will the ferry travel if each

unit on the gl’id is 0.5 mile? (Fampe2) about 5.1 mi




4. Aferry sets sail from an island located at (4, 12) on a map. Its
destination is Ferry Landing B at (6, 2). How far will the ferry travel if each

unit on the grid is 0.5 mile? (Fampl-2) about 5.1 mi

Use the Distance Formula to find the distance between each pair of points.
Round to the nearest tenth if necessary. ‘ol )

1) c(-s, -3), D(—4, —2) | 6. Y(3.5,1),Z(—4,2.5) 7. K(S%, 12), L(—e%, 7%)
1.4 units : 7.6 units 15.9 units
|
| |
| |
8. Chicago, lllinois, has a longitude of 88°W and a latitude of 42°N. W 86w

Indianapolis, Indiana, is located at 86°W and 40°N. At this longitude/latitude,

each degree is about 53 miles, Find the distance between Chicago and graoh =

Indianapolis. about 150 mi

Indianapolis, IN



9. 0@ Multiple Representations Points A(—2, 1), B(—2, 6), and
C(1, 3) are the vertices of a triangle.

a. Graphs Graph the points A(—2, 1), B(—2, 6) and C(1, 3).
b. Words Explain how to find the leni"th of segment BC.
Sample answer: Use the Distance Formula and the points

(—2,6)and (1, 3).

¢. Numbers Find the length of each side of AABC. Round to the
nearest tenth if necessary.

AC =~ 3.6 units
AB = 5 units
BC ~ 4.2 units

d. Numbers What is the perimeter of AABC? Use the values
from part c.

perimeter = 12.8 units
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@ H.O.T. Problems Higher Order Thinking

10. @/ Use Math Tools Layla needs to find the distance between the points
A(—2.4,3.7) and B(4.5, —1.4). Suggest a tool she could use to find the length.
Then find the length. Explain your reasoning.

Sample answer: Calculator; it will be most helpful when squaring and

O

finding the square root involving decimals; about 8.6 units.

11. E@ Persevere with Problems Apply what you have learned about
distance on the coordinate plane to write the coordinates of two possible
endpoints of a line segment that is neither horizontal nor vertical and has
a length of 5 units.

Sample answer: (1, 2) and (4, 6)

P

12. CS.S} Reason Inductively Compare the steps to find the distance between
two points on the coordinate plane by first using the Pythagorean Theorem
and then using the Distance Formula.

Sample answer: To use the Pythagorean Theorem, connect the points to

form a right triangle. Then use the Pythagorean Theorem to find the length

of the hypotenuse. To use the Distance Formula, replace (x,, y,) and (x,, y,)

in the formula with the coordinates of the two endpoints and simplify.



